. Oblicz:
a)25+(=34)=_ d)22—-47=
b)(—=33)+46=___ e)(—-16)—28=__
) (=19)+(=51)=. ... ) (=15)—=(=32)= .

. Wstaw znak < lub = :

a—12 4 b)—-6 . —10 a0 . =7 d)—-46 - 64

. Oblicz.
a)(=9)-4= b)42:-6)= ¢) (=3)-(=7)= d) (=81):(=9) =

4. Wartos¢ wyrazenia —6 + (—3) - (—=5) jest rowna:

A —45 B. 45 C. 21 D.9

. Oblicz:

=1

a) 24:(=3)-(—4) =

c) 8-[—13}_—5# (—16) _

Uzupeij:
a)22+ = =-=77 c)—-66— = -93
b) +41=-53 d  —64=-16

. Wpisz odpowiednie liczby:
a)  :5=-=-22 b)(—4)- =56 c)  -13=-13 d)y(-72):

Liczba przeciwna do 2% jest:

A.-25  B.[23 C.£ D.-
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